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Ol Xl otd & 25 A 10,216,503 12,473,722 N2,257,219
= 8,866,889 8,863,864 3,025
= 21,537 2,347,037 A2,325,500
= 1,328,077 1,262,821 65,256
Ol X2l & SItetd 140,429 136,648 3,781
= 69,889 66,864 3,025
= 12,000 12,000 0
= 58,540 57,784 756
O Xl AIEIH S A 127,361 123,580 3,781
= 69,889 66,864 3,025
= 12,000 12,000 0
= 45,472 44,716 756
403 KX &M S AH=01 & 127,361 123,580 3,781
= 69,889 66,864 3,025
S 12,000 12,000 0
= 45,472 44,716 756
02 S| 2SOl CHEHCH & At I 127,361 123,580 3,781
O MASE JIAANEHEAS 87,361,000 87,361 83,580 3,781
= 69,889 66,864 3,025
= 17,472 16,716 756
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= 8,797,000 8,797,000 0
< 9,537 2,335,037 A2,325,500
= 1,269,537 1,205,037 64,500
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= 7,537,000 7,537,000 0
S 0 2,261,000 A2,261,000
401 Al EHIZ 2O YI 7,537,000 9,798,000 A2,261,000
= 7,537,000 7,537,000 0
S 0 2,261,000 A2,261,000
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= 830,000 830,000 0
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i 554,850 459,850 95,000

SEXNRX 43 JIBFAIdZ AL 245,000 150,000 95,000

401 A& HIZ 20| 245,000 150,000 95,000

01 Al£HI 243,920 148,920 95,000
OB 2 JIEAIE EAAY

243,920,000& 243,920 148,920 95,000

KIS H & 2tel 3,408,410 4,338,410 930,000

= 0 200,000 A200,000

L= 1,625,000 2,500,000 875,000

i 1,783,410 1,638,410 145,000

29 EZINd 900,000 880,000 20,000

HEESHEFHOSHESZ LAY 220,000 200,000 20,000

401 A& HIZ 20 220,000 200,000 20,000

01 Al€Hl 218,560 198,560 20,000
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= 0 200,000 200,000
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= 1,500,000 2,500,000 21,000,000
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= 496,760 496,760 0
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2,000, 000,000& *0.0036 7,200 10,800 23,600
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= 3,240 3,240 0
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= 125,000 0 125,000
i 125,000 0 125,000
401 A& HIZ 20 250,000 0 250,000
= 125,000 0 125,000
= 125,000 0 125,000
01 Al€Hl 250,000 0 250,000
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250,000,000& 250,000 0 250,000
= 125,000 0 125,000
= 125,000 0 125,000
S A 5,718,870 5,693,870 25,000
S 2,000,000 2,000,000 0
= 3,718,870 3,693,870 25,000
XEotsst TAIDIBES 5,618,870 5,593,870 25,000
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5 =S 25,000 0 25,000
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